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QUESTION 1

An administrator changes the default value for Process agent attributes RestartLimit to 2 and Confinterval to 180. The
Process resource faulted and Veritas Cluster Server (VCS) restarted the resource. The Process resource faults again
after surviving a stable online period of 4 minutes. VCS restarts the resource. How will VCS behave if the Process
resource fails again after surviving a stable online period of 2 minutes?

A. VCS restarts the resource.

B. VCS faults the resource.

C. VCS waits for user intervention.

D. VCS offlines the resource.

Correct Answer: A

QUESTION 2

A disk displays an X symbol in a red circlE. What does this indicate?
A. There is a potential problem and it should be fixed immediately.
B. The disk is inaccessible, but the data is healthy.

C. There is a disk failure and it should be fixed immediately.

D. The disk is disconnected, but the data is healthy.

Correct Answer: C

QUESTION 3

A city-wide power failure caused a data center to power down all systems. An organization has a three node cluster and
one node failed to start after the power was restored. The network administrator noticed that a critical business
application is unavailable and has determined that the cause is that the cluster is in a waiting state. It is critical to get the
business application started immediately. What can the administrator do to force the cluster to start on one of the
working nodes?

A. hacf -verify

B. hastart -all

C. net start vcscomms

D. gabconfig —cx

Correct Answer: D
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QUESTION 4

Solutions for which application are available in the Storage Foundation - High Availability Solution Configuration
Center?

A. Microsoft Hyper-V

B. Symantec Enterprise Vault
C. Symantec NetBackup

D. VMware vSphere

Correct Answer: B

QUESTION 5

Refer to the exhibit.

Application requires database and |P address.

¢ Application
IP Add-ess

A Fileshare resource has faulted and is failing over to the second node in the cluster. Which resource should the
administrator expect to come online first on the failover node?

A. The lowest child resource is brought online first.
B. The lowest parent resource is brought online first.
C. The highest child resource is brought online first.
D. The highest parent resource is brought online first.

Correct Answer: A

QUESTION 6
Which two agents can be configured for Intelligent Monitoring Framework? (Select two.)

A. IS
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B. FileShare

C. PrintShare

D. SAPWebAS

E. SQLServer2008

Correct Answer: AE

QUESTION 7

Which cluster configuration refers to multiple service groups that run on multiple servers, with each service group
capable of being failed over to different servers?

A. N-to-1
B. active/active
C. asymmetric
D. N-to-N

Correct Answer: D

QUESTION 8

When the Microsoft Failover Cluster support option is selected in Veritas Storage Foundation for Windows, the minimum
and maximum quorum arbitration times can be adjusted. What is the optimal arbitration time setting for a dynamic
quorum?

A. Minimum time - 30 seconds; Maximum time - 120 seconds

B. Minimum time - 7 seconds; Maximum time - 60 seconds

C. Minimum time - 15 seconds; Maximum time - 60 seconds

D. Minimum time - 60 seconds; Maximum time - 120 seconds

Correct Answer: A

QUESTION 9

For which type of license is it possible to add or remove license keys?
A. user entered license key

B. keyless license key

C. slf license key
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D. trial license key

Correct Answer: A

QUESTION 10

How should an administrator use Cluster Explorer to remove a system from a running service group in a three node
cluster with the configuration already opened?

A. highlight the service group, then select File, System Manager, highlight system, and click on the left arrow
B. highlight the service group, then select Tools, System Manager, highlight system, and click on the left arrow
C. highlight the service group, then select View, System Manager, highlight system, and click on the left arrow
D. highlight the service group, then select Edit, System Manager, highlight system, and click on the left arrow

Correct Answer: B

QUESTION 11

What is the valid cluster ID range?
A. 0to 255

B. 0 to 16535

C. 010 32535

D. 0 to 65535

Correct Answer: D

QUESTION 12

What is a benefit of an active/passive cluster configuration?
A. It is more efficient in terms of hardware utilization.

B. It is the simplest and most reliable.

C. Failover performance is faster than a symmetric cluster.
D. Failover performance is faster than an asymmetric cluster.

Correct Answer: B

QUESTION 13
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An organization is upgrading all network switches in its data center. Per standard operating procedures, the
administrator shut down all systems in the data center. After the switches were upgraded, the servers were restarted.
However, a two node cluster was in a waiting state after the servers were restarted. Which command can the
administrator run to help determine whether the heartbeat network is running properly?

A. gabconfig -a

B. ipconfig

C. litstat -H

D. hacf -verify

Correct Answer: A

QUESTION 14

Which service group dependency permits a parent group to be brought online when the child group is offline?
A. online local

B. offline local

C. online remote

D. offline remote

Correct Answer: B

QUESTION 15

Refer to the exhibit.
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WebSG

All resources displayed in the exhibit are non-critical. Which two resources will be taken offline when resource 5 faults?
(Select two.)

A.2

B.3

E.8

Correct Answer: DE
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